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> Front End

> “"Muon Collider” versions

> 325 MHz

> Add Chicane/Absorber
= rematch
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» Linac, Accumulator, Compressor run at
15 Hz - 4 bunches

= bunches at 60 Hz
* 4 bunches
= 1 bunch at time into neutrino factory
*1 p* and 1 p batch per cycle
* 60 Hz neutrino factory
= Without trombone
* 60 Hz single p bunch for collider
= With frombone
* 4115 Hz bunches for collider

3 GeV, 1.0 mA CW Linac



325MHz System “Collider”
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325 Collider w/Updated Chicane/Absorber .v
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2500

> 325 "muon collider” with
chicane absorber + <p, <0.35)

= with added drifts between
chicane and absorber

* ~30m
= ~0.12 y/p > ~0.1p/p
= smaller emittance beams
* scraped to better fit o4
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~60 m long bunch train "0

= ~60 325 MHz buckets

For collider choose “best 2010

bunches ™

= (~19m)
Includes ~2/3 of captured
H's

= many are lost

21bunches are recombined
to 1 in collider scenario

= Tt is more difficult 1o
recombine 21 than 12

Would like to extend
acceptance or generate
shorter train
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> NERSC does not work (for me)

» Batch Jobs submitted “run”
using no time, no output, no
useful diagnostics

= has run properly a couple of times

#FBS —-g regular
#EFBS -A map

: #PB3 -1 mppwidth=1492
> H'dden UNIX Sys*em fea.rur‘e? #PBS -1 walltime=00:07:00
cd $FBS_0 WOREDIR
gprun -n 192 /project/projectdirs/map/Codes/IC00L/mpi/bin/iconl-332-mpi-00 '

Warning: no access to tty (Bad file descriptor).
Thus no job control in this shell.
+ __________________________________________________________________________
+ Job name: fee.pbs
+ Jokb Id: 7043094 hopgquell
+ 3ystem: hopper
+ fueued Time: Mon Jan 27 09:40:11 2014
+ Start Time: Mon Jan 27 09:42:28 2014
+ Completion Time: Mon Jan 27 09:42:32 2014
+ User: dneuffer
+ MOM Host: nid04213
+ Queue: reg_lhour
+ EReg. Besources: mppnodect=E, mppnppn=24,mppwidth=192, other=05SUBPID: 24420 thopper09,walltime=00:07:00
+ TUszed Besources: cput=00:00:00, mer=0kb, vmem=0kb ,walltime=00:00:07
+ Acct String: map
+ PB3_0 WOREDIR: /fglobal/ui/fd/dneuffer/FE 201 shorttaper
+ Submit Args: fee.pbks
L 10
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> Are studying 325 MHz version (~Collider)
= produces more bunches in same length bunch train than 200 MHz
= requires more bunches to be recombined ~12 > 21
* more difficult ... ?
* HCC recombiner ?
= Are including chicane/absorber
= Would like to fit more p in fewer bunches

Summary -_“_-
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Weekly Summary
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DILBERT, WHAT DID
YOU ACCOMPLISH g

THIS WEEKS

I RUN A PARALLEL
CAREER IM MY MIND,
IM THAT WORLD,
I™ THE FOUNDER OF
A HOT START-UP,

1 DOUBLED MY

SALES AMD MADE
THE COVER OF
TIME MAGAZINE.

" IT KEEPS MY BRAIM
FROM FULLY REALIZING
THE HORROR OF MY
ACTUAL CAREER AND
TRYING TO KILL THE

REST OF MY BODY.

¥
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BUT TO ANSLIER YOUR
ORIGIMAL QUESTION,
THIS WEEK T MADE
SOME POLJERPOINT
SLIDES THAT HAVE

| NO PARTICULAR USE.
\
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FOR A MOMENT
THERE 1 CONFUSED MY
EMTREPRENEURIAL
FANTASY LIFE WITH
MY REAL JOB.

GAAANI MY BRAIN
IS TRYING TO KILL
THE REST OF MY
BODY!
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